} [pb/GeV]

d? {|P

Ratio to ATLAS

| cdot N

10

jets

Cross

0.5

13000 GeV pp ff

| ' I i I T I T I | T I T T T T T I . |

tthar
- Peross (ATLAS ttbar) B
 m ATLAS ]
| —-8-- Pythia 6.428 391 5
- Pythia 6.428 393 |
L -®-- Pythia 6.428 394 B
--¥-- Pythia 6.428 395
]
- gfs: —
B B.\. : N ~ —
| .\.\'\.\ AR s.. [ h
L ~ \.: ‘e |
g

| P —— | R | | |
:l I I 1 1 [ 1 1 t ! |:
L giEEEfffffffffff:t:::r:r:::i::ififff=g ]
B [3. ................................... _E —]

| 1 . 1 1 . 1 | . L | . . | |
0 0.5 1
P |[GeV]

Rivet 3.1.10, = 2.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


